Bug fix: Centring Labels Correctly Where the Label is Longer than the Street

There is a bug in Mapserver that causes the label path to be extrapolated wrongly and thus the label to be drawn in the wrong place. This bug causes the incorrect placement of a “follow” label, when the label is longer than the section of the street in which the label is to be placed. The problem is the incorrect calculation of ‘t’ in the case that the label is longer than the line, i.e. if(text_start_length < 0.0).  The fix is in file mapprimitive.c in function msPolylineLabelPath().

Detail:

In the original code:

t = 1 - (fwd_line_length - text_start_length) / segment_length;

The above line is meant to compute t as being the fraction of the segment that we need to traverse to get to the start of the text, i.e. (L / segment_length) in the diagram below. The diagram shows points on the line where the label is to be drawn as ‘X’.

<---- text_start_length ---->

<--------------------- fwd_line_length -------------------->

                    <---------- segment_length ------------>
X===================X======================================X=============X
                             Victoria Road

                    <-- L -->
But this fails when the label is longer than the line in the street where it is to be drawn. 

<-- text_start_length -->

                         <> fwd_line_length = 0
                         <----- segment_length ----->
                         X==========================X=========X===X
A Very Long Long Long Long Long Long Long Long Long Long Long Long Long Street Name

<----------- L --------->
The fraction of the first segment that we need to traverse to get to the start of the text, i.e. (L / segment_length) is now negative and should be calculated in this case by the corrected line below:

t = text_start_length / segment_length;

Code (modification in mapprimitive.c):

    /* determine how far along the segment we need to go */

//    t = 1 - (fwd_line_length - text_start_length) / segment_length;

    if(text_start_length < 0.0) {            /* DP ADDED BUGFIX */

      t = text_start_length / segment_length;

    } else {

      t = 1 - (fwd_line_length - text_start_length) / segment_length;

    }

  } else {

    j = final_j;

    inc = -1;

    /* length of the segment containing the starting point */

    segment_length = segment_lengths[i][j-1];

//    t = 1 - (rev_line_length - text_start_length) / segment_length;

    if(text_start_length < 0.0) {            /* DP ADDED BUGFIX */

      t = text_start_length / segment_length;

    } else {

      t = 1 - (rev_line_length - text_start_length) / segment_length;

    }

  }

